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void Init (int length,const char *works);
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void Change (int index, char value);
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int Ask (char value);
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#tifndef EVAL
#include <iostream>
void Init (int length, const char *works);
void Change (int index, char value);
int Ask (char value);
int main()
{
char works[] = "abcde";
Init(5, works);
int ansl = Ask('c');
Change(2,'a");
int ans2 = Ask('c');
int ans3 = Ask('a'");
if(ansl == 1 && ans2 == 0 && ans3 ==2)
std: :cout<<"Your answers are correct!"<<std::endl;
else
{
if(ansl != 1)
std::cout<<"Your answer to the 1st question is wrong. The
correct answer is 1, but you returns "<<ansl<<"."<<std::endl;
if(ans2 != 9)
std: :cout<<"Your answer to the 2nd question is wrong. The
correct answer is @, but you returns "<<ans2<<"."<<std::endl;
if(ans3 != 2)
std: :cout<<"Your answer to the 3rd question is wrong. The
correct answer is 2, but you returns "<<ans3<<"."<<std::endl;

}
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#tendif

/*Write Your Program Here*/
/*Notice: You should include header files yourself*/

void Init (int length, const char *works)

{
}

void Change (int index, char value)

{
}
int Ask (char value)

{
}

mEHAREN
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char str[] = "abcde";
Init(5, str);
Ask('c'); //FEEIEL
Change(2,'a");
Ask('c'); //F&[El{He
Ask('a'); //KEREI{#2
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